@ Jardineria del Valles

GARANTIA KLY:
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Estos mapas muestran el KLy segun las dreas geogrdficas. Kilo Langley (KLy) es la
unidad de medida para la exposicién a los rayos UV por metro cuadrado de area (1
Langley = 41,840 julios / m?). La degradacién anual de la materia a la luz solar varia segtn
la region.
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Es muy facil calcular el KLy aqui tiene un ejemplo:

Si estds en el centro de Espafia o Portugal, para una garantia de 1000 Kly, el calculo para el centro
de Espafia corresponde a 1000/140 = 7.1 afos.
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@ Jardineria del Valles

WARRANTY KLY:

These maps show the KLy according to geographic areas. Kilo Langley (KLy) is the unit of
measurement for UV exposure per square meter of area (1 Langley = 41,840 joules / m2). The
annual degradation of matter in sunlight varies by region.

70 100 10 W W




— -
Jan Mayen | Norwegian
ORWAY: | .
| Sca

NP NN ) ST
' : Fek
Koy — i
Torshavn ¥ (01 |
|
R P " :QV'St Petershury
(LU S 7 | | 5 Nizhnty
TSPUNITED | north ot Ravporod
100 o | o : o Moscow ST
75
i voronezh  saratov,
Celtic m
120

o
A

: :?I,;“f’”." '

Madrid |
- v,
SPAIN ¢

Barcelona

g
:

Wi

Mosi.
Kirkuk,

12Ar

It is very easy to calculate the KL and here is an example:

If you are in the center of Spain or Portugal, for a guarantee of 1000 Kly, the calculation for the
center of Spain corresponds to 1000/140 = 7.1 years.

If you are in France, it corresponds to 1000/120 = 8.3 years
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